DPUYOS 2020 f&

1. DUMLUPINAR = 3476415829 3. @ABCDEF — FEDCBA
= PUANLI =7 KLMNPRA — RLPNMK

O@TSVXYZA — TYSVXZ

A) 124865 B) 142856 C) 142865
= @KCRXMTA =7
D) 341856 E) 324865
A) KMXCRT B) KMXRCT C) KMCXRT
D) KMRXCT E) KMCRXT

2. I I 4., \'270"

35624 46978 EMD 2315

72653 69287 ANY,/V 4 \16 / 6

65372y = {96482

RK PU| . [7 13X 911

42356J L78469 T/sS\ Z 10 /12\_1

53427 28964 iNL 8145

= 549723 =7

KARPUZ = K+A+R+P+U+Z =68
I. Gruptaki sayilarin rakamlari birer rakam ile gosterilerek

1. Gruptaki sayilar elde edilmigtir. Buna gére, 549723 = SERENAD =7?

hangi sayi ile gosterilmistir?

The numbers in group Il. stand for the number in group | Yukarida verilenler belirli bir kurala gére olusturulmustur.
when each number has been coded with a specific Buna gére SERENAD = ?

numeral. Which number corresponds to 5497237 ] ) ) )
The above is based on a certain rule. According to this

Ka»(dqﬂ yughpa coomeemcmeayem yugpe. Lluqbpb/vs SERENAD=?
repsoli epynne coomeemcmayrom yugpam 8mopoli
2pynnsl. Boibepume kakue u3 yugp nodxodsm 549723 B coomeemcmeuu ¢ onpedenieHHbIMU npasunamu,
K 5Momy Habopy uup. npusedeHHbIMU 8bilue, Kakoe bydem uMems 3Ha4yeHue
- PRI s - =?
il Caneny 2lill A sanall Sl e J geaal) TEREAS? W\ = " e
s sl aaadl L el Q\J\:\f— | Lo eclld oy 330 5 3ac 8 Cowsy o3le | cilidazall Ll o3
Jiay G (A ganal .
’ 307945 ¢ ‘DANERES 4«3
A) 69 B) 68 C) 67
A) 625789 B) 624789 C) 623783

D) 66 E) 65
D) 267843 E) 264879
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A

5. x®y=x+3y} _
A) 48 B) 32 C) 24
D) 21 E) 15
6. 31 x 4 4 9 1 x
+ 6 y 9 5 - 3 y 0 1
100 1 9|’ 11 11
:>X,y=7

X y
A) 8 2
B) 6 2
0 2 8
D) 8 0
E) 2 6

7. 5 X3=20
4 X£2=12
6 £5=36

7X3=2
A) 10 B) 16

D) 28

8. 2" =4x+5y=>
3x4=7
A)1 B) 5

D) 3

E) 35

E) 4

0) 21

0)9
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9. O O
((@»)((@))

- = 33
= % + RN
EWES
D 2@ 4 ¥ = 24

(<@0
EHES
P 3, @ mE
pi et
=> [J+ >E + (@) =7
A) 17 B) 16 C) 15

D) 14 E) 13

10. + | a b c
a |12
b 5
c
>(a—-b—-c)la+b+c)=?
A) 11 B) 110 C) 60

D) 36 E) 119

11.
Sonug¢
Result
PesynbTaTr
Aa
8 6 1 27
7 3 2 45
9 6 3 39
4 2 5 ?
A) 40 B) 27 C) 37
D) 20 E) 18
12. a b c X a b c
a 36
10 b
c 54
>c=7?
A)S5 B) 6 Q7
D)8 E)9
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13. + a b c
a 10
b |2c-3
C 3a-1
a,b,c>0
>a.c+b="?
A) 29 B) 27 C) 25
D) 23 E) 21
14. | a |- a2 a|—at a|—a
2
3 — 59
4
2
4 - ?
=7
A) 126 B) 128 C) 127
D) 129 E) 125

15.
2
2
1 1
1
2
A1 B) 2
D) 4
16.
/A + [
)+ W
G+ (9
A) 42 B) 39

D) 53

1
2
2 1
1
2
C) 3
E) 5
=32+41=10
=6.5+5.4=50
=7
C) 47
E) 54
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17. 18. Asagidaki denge sekillerinden dengenin saglanmasi igin
I 1L 1L “? ” yerine hangisi gelmelidir.
8 Which one should come come instead of “ ? ” to prvide
) the balance from the balance shapes?
Cniedyroujee nonoxeHue pasHosecusi banaHca onsi «?»
3 7 8mecmo «Kakou.
)5 Sl Jsanll (5) 08a o o iy 13
2

Yukaridaki sayi diziliminde (?) yerine hangi sayi gelmelidir?

What number should be used in place of the number
sequence (?) Above?

Kakoli Homep criedyem ucrnonb308ame 8MECMO
nocrnedosamenbHocmu 4yucen (?) Boiwe?

So3lef () AN ulasi (ga Yoy Aladiin) Cany 31 A8 L
A)8

B) 6 C)7

D)5 E) 9

B
a
©s B
|
a
%
|
%)
|
NS B) ®® 00®®®
D)

E
&8®®0 )®®®®
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19.

A

Sekildeki terazinin dengede kalmasi igin soru isareti (?)
yerine hangi agirlik konulmalidir.

Which weight should be put in place of the question mark (?)
So that the scale in the figure remains in balance.

Kakou sec cnedyem nocmasume emMecmo 3Haka gonpoca (?),
Ymobe! banaHc Ha pucyHKe ocmasarsicsi Ha banaHce

() Alefins¥) Adle (o Yoy drain g cang (3 (35l Lty jal) Al
0 sl 3 o)) sl e Laliad) daf o

A) 3 B) 4 05
D) 6 E)7
20. L. I1.
6 10 11 6
104 69
2 7 3 12
111
17 10
?
2 5
A) 170 B) 130 C) 176
D) 140 E) 172

21.

22.

L

i
[
C
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A

W 44 Y

'Y W O
i 48 Vh

" gy ‘”
>

28. T Z
C D
V ?
A) Y B) N
D) V

E)

C)><

29.

T T
XXX
gaion
A)O_I_Q B)’_I_Q C){_‘
3 -

30.

D) 9 E) —
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31. Asagidaki sekilde kag Giggen bulunmaktadir? 33.
How many triangles are there in the shape above?

CKobKo mpeyaosibHUKO8 criedyrouum obpasom?

ag Gl oS ¢ Sl e ) JRal

)
0
XX

\ 1\

0.9

&
N

Yukaridaki seklin tamamlanmasi igin bos alana kag kip
yerlestiriimelidir?

How many cubes should be placed in the empty space to

A) 33 B) 34 C) 35 complete the figure above?
CKOJIbKO Ky6UKO8 HY)XHO roMecmums 8 fycmoe
D) 36 E) 37 fpocmpaHcmeo, Ymobbi 3a8epuiUMb PUCYHOK ebilue?
S0 el o sla e an al) ilaSall s oS A el
) [
A) 40 B) 50 C) 30
D) 10 E) 20

32.
34. 58 16 19 38 41 ?
= /| Yukarida verilen sayi dizisi belirli bir kurala gore
I |/ olusturulmustur. Buna gore “?’ yerine gelmesi gereken sayiyi
bulunuz.
l /I | The number sequence above is based on a specific rule.
— What does the ? stand for.
| - Psdbl yucen 8 coomeememeauu ¢ daHHbIM NPasusioM,
| I/ pusedeHHbIM 8biuie. Bbibepume kakoe u3 yughp nodxodsm
oo 3Hak .?.

e Baa) 5 3ae 18 s o3le ) 2lacY) Al eLis) eﬁ

- B . 5 - iR
Tuglalarin hepsi ayni boyuttadir. Bu yiginda kag tane tugla S G Yy S Lﬁﬂ\ - A';}‘.:dh
vardir? pledin]

Bricks are all the same size. How many bricks are there in
this stack?

Kupnu4u ece oOuHakogozo pasmepa. CKombKo Kuprnudeld 8
amom cmeke?

A) 86 B) 49 C) 64

fa S 138 8 Coshall aae oS, aal s o shall; A yal) D) 82 E) 45
A) 32 B) 34 C) 36

D) 38 E) 40
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Ornek/Sample/Obpasey/ Jie

35.

A)

O

B)

D)

E)

.......................

...........

10

Donme tekerlegi (D) gosterilen yonde dondiigliinde bagl kayis
diger tekerlekleri gevirir, tekerlekleden hangisi en fazla doner.

Tied strap when the turning wheel (D) rotates in the direction
shown turns other wheels, which wheel turns the most.

npuKperieH peMeHb, ko2da epawaroujeecsi koseco (D)
rosopayueaemcsi 8 ykazaHHOM HarpassieHuu rnogopayusaem
Opyaue Koseca, Kakoe Koreco epaljaemcsi Hauboree.

Q\Jj.ﬂ\u;r— s Ladie: :gu‘)ad\ (D) PN @a}d‘ oLyl Lé
ST JS8 e aal) i Lagl ¢ 5 5AY) iSlaall Jasi jall ol sall,

A)C B) E 0OA

D) F E) G
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A

37.

O o

Yukaridaki sekil bir kiip olusturmak izere katlandiginda,
asagidakilerden sadece hangi ikisi Uretilebilir.

Only two of the following can be produced when folded to
form a cube of the above figure.

moJsibKo 08a u3 criedyrowux Mo2ym 6bimb rosly4YeHs! 8
CroXeHHOM gude, Ymobbl chopmuposamb Kyb Ha pucyHke
ebiuie.

e el oLy Lgph die Ly Lo Jadd (] 2] S A yall A2l
oSef Jal

D

A) LI B) IV 0) 11 IV

D)L IV E) IV,V

11

38. Asagidaki sekillerden hangisi farklidir?

Which of the following Figures is different?

Kakas u3 cnedyrowux ¢huayp omnuyaemcs?

A)

0

E)

fliae 4 JSEY) (e gl A el

B)

D)
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39.

X

Y

Sekildeki kapal kiipun karsilikli yizeyine ayni harfler
yazilmigtir, kiipln agilimi hangisidir?

The same letters are written on the opposite surface of the
closed cube. Which is the opening of the cube?

3mu xe bykebl HanucaHbl Ha MPOMUEGONOMOXHOU
rosepxHocmu 3aMKHymoeo Kyba. Ecru eaw ky6 omkpoemcs,
Kakol eapuaHm oH 6ydem?

Uil Lo slall ConSall Qi ol e 4 5iSa g all e

funsal)

X
Nl z|lY |z |X
Y

X
Bl Zz|Y |z |Y
X

Z
O|lY | X |[Y | Z
X

X
D)|Z |Y |Y | Z
X

Y
Bl X|Y |X |z
Y

12

40.

A) 0

E)

41. Asagidaki sekillerden hangisi farkhdir?
Which of the following Figures is different?
Kakas u3 cnedyrowux ¢huayp omnudyaemcs?
filise 40 JISEY) (e gl A el

{ N

Kp X

0 D)

E)
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42. 12K =9L = 4M = 18N 43.

13
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44,

SKL L5 abcOabcab | abc

; = K=? )
3
A) 100100 B) 1000100 C) 1000010
A5 B) 6 C) 7
D) 100010 E) 101000
D) 8 E) 9

14
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46. 0,03 0,5 0,6

0,003 0,05 + 0,03
A) 40 B) 50
D) 30
47. 1 2 3 4
2 3%373%"
A) —4 B) 4
D) -5

C) 60

E) 20

15

48. 3 1 .03
2" 02-04" %> |
05 '
n2 B) 9 ol
3
D) 21 E) 33
9. 4 2
V3-1 V2+1 _,
1
5-2v6
A) Ve B) V3 01
D) vZ E) 2
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50. ¢ =5 +3 52. 2x+5y—7z=8}_ _
x+2y—22=6 =xty+z=?
a?—2V3a+3=7?
A) 0 B) 5 C) 10
A) 3 B) 4 C)5
D) 15 E) 25
D) 6 E) 7
51, x+9 2x s 11 53.a 2
x—2 x+1 > 2—x b 3
=)x=? a+2b_
b—a
2 1
A)—§ B)_E 01 A) 4 B)5 06
D); E) 4 D) 7 E) 8

16
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54. x,y,z,t €R

D) 3

55 22018 _ 92017 _ 92016 _ .

A)2

D) 22017

>m =?

B) 4

B) 21000

C)5

E) 7

21 =2

0

E) 22018

21004—

56. a? + b? a? b?
= —_ + — =7
a.b bZz  a?
A) 10 B) 11 C) 7
D)9 E) 8

57. 9x2—-1=0

Solution set

Cozum klimesi
l ?

= Habop pelLIeHnuH
dallde sl |
of-3 el off
D) 1 E)0
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A

58. logﬁ_z(ﬁ+ 2) + log 748 (\/7— \/E) =7?

A) -2 B) —1 0o

D) 1 E) 2

59. logs(2x +85) =3

A) 16 B) 17 C) 18

D) 19 E) 20

18

60. lirr%(x3 —2ax*+3)=3
x—

>a=7?

A0

61.

D) 3

L @2
im———— =

B) 1

5

x-3 x%2—9

= lim

A) 20

x—3

D) 32

f(x)+2x—-8

x—3

B) 26

E) 4

E) 43

)2

C) 29
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62. f(x) =Vx + 14
g(x) = 2%*3
=>(f+92)=?
A) 20 B) 27 C) 36

D) 40 E) 63

63. AY

N
<

\y ()

f2(x)=x*+6x—-2f(x)+8

=f(3)=?

A5 B) 2 00

D) —2 E) —7

19

64. f:R—>R

fx) = e2x+1

= (') =?
1 1
N B)
D) e’

0
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65. f(x) =x.(x—1.(x—2)..(x—6)

')
= % =7?
1 1
A) > B) -5 oo
1 1
D) ~Z E) Z
66. 3 2
A= m"
[1(2)
3 2
B= m"
2 (L)
=>A+B=7?
A) 140 B) 150 0171
D) 182 E) 193

B) - 01

E) 2e

20

-

y=f(x)=ax*+bx+c

67. ¢
flnx.dx=?
1
e
2
A) -
e
D)e
68.
Sl+52 =7
16 8 32
A — B) — C) —
) 3 ) 3 ) 3
64 20
D) — E) —
)3 )3
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69. z+iz=z+4

=z=7
A)8—4i B) 4 —8i C)4+8i
D)1+1i E) 8+ 4i
70. sin2x+1 i
—— —sinx =?
sinx + cos x
A) sinx B)1 C) sin 2x
D) cosx E) cos 2x

21

71. cos80° + cos10°

sin80° + sin10°

A1 B) % )

I -

D) V3 E) 2

72 8 3]A —11 é]

= A =?

14

A) [—513 —_154-] B) [153 -5 2 [13 14

D)[13 14 E)[S 14
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73. nnAE Nt =? 75. 1<y <3,
1= gn
76! = 8.4 2r—y=5
= max(n) =?
=7<x<?
A) 21 B) 24 ©) 23 A)l<x<2 B)2<x<3 () 5<x<6
D) 22 E) 25

D)4<x<5 E)3<x<4

74. (x +2).P(x—1)=3x*-8x+k

= P(-3) =?

A) —16 B) —19 C) —20

D) —22 E) —23

22
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76. A
ah
45°
B 10
m(ABC) = 45°
|AB| = 42br
|[BC| = 10br
|AC| = x br
= x =7
A) 2413 B) 6 C) 7
D) 3v3 E) 8

23

77. B_ 4 c
E
A 12

[AD]//[BC]

|CE| = |ED| = 5br

|BC| = 4br

|AD| = 12br

= A(ABCE) =7 br?
A) 12 B) 18 C) 24

D) 30 E) 36
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78. 79. A
30
S,
A - ; B 3 0O C
0 Merkez/Centre/ueHTp,/ S =
[4D]//[BC),[DC]//[AB] m(BAD) = 30°
[CH] L [DE] |0B| = 3br
|AE| = |EB|, |CH| = |BC]| =S, +S,=?
m(4BC) = 950
S 3
— m(HCD) =? A 7w B) 7” C) 21
5
A) 15 B) 20 C) 25 D) —- 2] g

D) 30 E) 35

24
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80.

O Merkez/Centre/ ueHtp/ X

loc| = V10 br
|AC| = 4br
|CB| = 10br
= |0B| =?br
A) 5 B) 6 C) 3v5
D) 4v3 E) 5v2

Test Bitti / End of Test

25



